Unit 5: Polynomials
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1. Factor each of the following trinomials.

a.

5x° — 40x* + 75x

b. 2x*+3xy—2y’

g | Compare your anSwers.

1. Factor each of the following trinomials.

a.

5x° —40x* + 75x
5x is the GCF of 5x° — 40x° + 75x.
5x° — 40x> + 75x = Sx(x>— 8x + 15)

Lesson 5.3: Factoring Trinomials

The integers —5 and —3 have a product of 15 and a sum of —8.

S5x(x>—8x+15)=5x(x—5)(x—3)

2x*+ 3xy — 2y°

ac=—4and b=3

The integers 4 and —1 have a product of —4 and a sum of 3.

2x*+ 3xy — 2y° = 2x* + 4xy — xy — 2y°
= (247 + 4xy) + (=xy — 2y°)
= 2x(x+ 2y) — y(x + 2y)
=(x+2y)(2x —y)
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